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Computing Hardware

We build tools

Used by “everyone” for “everything”

Science, medicine, commerce, …
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www.eecg.toronto.edu/~moshovos/CUDA08



Our Goal:

Hardware Acceleration of ML

Why?

Hope to… Further Enable ML:

Innovation

Applications
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Computing Devices do…

Data “Transformation”  A + B

Data Movement  A = B



Compute 

CoresMemory

Compute 

Cores

On-Chip

Memory

On- vs. Off-Chip

Energy: ~100x

Latency: ~50x

Compute/Watt is the primary design constraint

On-ChipOff-Chip



Example: Convolutional Neural Networks

LHC
maybe

Layers

Tons of Out += A x W
For other types of networks too



Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4



Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Lots of Parallelism



Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4



Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0
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Out0 += A4 x W4
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Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1
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Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1
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Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Do as you are told?



Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Do as you are told?Calculate the same output

but … do less work



Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4



Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W
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Out1 += A4 x W
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Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1
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Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4
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Out0 += A3 x W3
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Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A2 x W2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W

Out1 += A1 x W

Out1 += A2 x W

Out1 += A3 x W

Out1 += A4 x W

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4



Out1 += A0 x W0

Out1 += A3 x W3

Out0 += A0 x W0

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A4 x W4

Out0 += A0 x W0 Out1 += A0 x W0

Out1 += A1 x W1

Out0 += A0 x W0 Out1 += A0 x W

Out1 += A4 x W

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1
Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out1 += A0 x W0
Out0 += A0 x W0

Out0 += A1 x W1

Out1 += A0 x W

Out1 += A1 x W

Out0 += A1 x W1

Out1 += A0 x W0

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out1 += A4 x W4

Out1 += A0 x W

Out1 += A4 x W

Out0 += A0 x W0



Out1 += A0 x W0

Out1 += A3 x W3

Out0 += A0 x W0

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out1 += A4 x W4

Out0 += A0 x W0 Out1 += A0 x W0

Out1 += A1 x W1

Out0 += A0 x W0 Out1 += A0 x W

Out1 += A4 x W

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

2

Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out1 += A0 x W0
Out0 += A0 x W0

Out0 += A1 x W1

Out1 += A0 x W

Out1 += A1 x W
Out0 += A1 x W1

Out1 += A0 x W0

Out0 += A4 x W4

Out1 += A0 x W0

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out1 += A4 x W4

Out1 += A0 x W

Out1 += A4 x W

Out0 += A0 x W0





“Compiler”

Hardware

Runtime



• Out += A0 x W0

Value Properties to Exploit? Many ~0 values
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• Out += A0 x W0

Value Properties to Exploit? Many ~0 values
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• At Various Granularities: e.g., Layer or finer 

Value Properties to Exploit? Varying Precision Needs

25

X
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X

A x W



• At Various Granularities: e.g., Layer or finer 

Value Properties to Exploit? Varying Precision Needs
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X

X

X

A x W



Value Properties to Exploit? Bits that are “1”

A x W
X

X

X



W 0001 0100

A 0010 1010

0000 0000

0010 1010

0000 0000

0010 1010

0000 0000

0010 1010

0000 0000

0000 0000

Ineffectual Computations Explained
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Ineffectual Computations Explained

29

W 0001 0100 

A 0010 1010

0000 0000

0010 1010

0000 0000

0010 1010

0000 0000

0010 1010

0000 0000

0000 0000



Value Properties to Exploit? Bits that are “1”

A x W
X

X

X



Compute 

CoresMemory

Compute 

Cores

On-Chip

Memory

On- vs. Off-Chip

Energy: ~100x

Latency: ~50x
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Out1 += A3 x W3

Out1 += A4 x W4

Out0 += A0 x W0

Out0 += A1 x W1

Out0 += A2 x W2

Out0 += A3 x W3

Out0 += A4 x W4

Out1 += A0 x W0
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Making Typical Values Matter
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DPRed: Making Typical Activation and Weight Values Matter In Deep Learning Computing, Delmas et al., 

https://arxiv.org/abs/1804.06732
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Fine-Grain Precision Adaptation
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Effective Precisions w/ Per Group Adaptation: 16b case

Precisions are much lower

40Also: Computation Speed: 

3x – 4x  
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Deep Learning: Convolutional Networks
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Deep Learning: Convolutional Networks
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Pruning and Sparsity
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• We build tools

• Used by “everyone” for “everything”

• Science, medicine, commerce, …

Computing Hardware

82

Provide Immediate Benefits

Reward but do not Require Model Optimization

Path to Innovation



COHESA

COHESA Network: A National Approach
83
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Hardware

System Software

Intelligent Sensing

Architecture

Reconfigurable Logic

Signaling/Circuits

Compiler/Domain-specific Languages

Operating System/Middleware

Data Analytics

Machine Learning

Computational Imaging

NSERC COHESA 



COHESA

Machine Learning
85
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System Software

Intelligent Sensing
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